B A/ BB + F IR 4R

PEEK/PO

EHRE
Part Number

04000P0012025002
04000P0012025004
04000P0014030002
04000P0014030004
04000P0014030006
04000P0016035002
04000P0016035004
04000P0016035006
04000P0020040006
04000P0020040008
04000P0025045006
04000P0025045008
04000P0025045010
04000P0025045012
04000P0030050006
04000P0030050008
04000P0030050010
04000P0030050012
04000P0030050016
04000P0030050020
04000P0030050025
04000P0040070006
04000P0040070008
04000P0040070010
04000P0040070012
04000P0040070016
04000P0040070020
04000P0040070025
04000P0040070030
04000P0040070035
04000P0050080006
04000P0050080008
04000P0050080010
04000P0050080012
04000P0050080016
04000P0050080020
04000P0050080025
04000P0050080030
04000P0060100006
04000P0060100008
04000P0060100010
04000P0060100012
04000P0060100016
04000P0060100020
04000P0060100025

R1E
M

M1.2x2
M1.2x4
M1.4x2
M1.4x4
M1.4x6
M1.6x2
M1.6x4
M1.6x6
M2x6
M2x8
M2.5x6
M2.5x8
M2.5x10
M2.5x12
M3x6
M3x8
M3x10
M3x12
M3x16
M3x20
M3x25
M4x6
M4x8
M4x10
M4x12
M4x16
M4x20
M4 x25
M4x30
M4 x35
M5x6
M5x8
M5x10
M5x12
M5x16
M5x20
M5x25
M5x30
M6x6
M6x8
M6x10
M6x12
M6x16
M6x20
M6x25

Size (mm)
DK K
1.8 0.5
1.8 0.5
2 0.5
2 0.5
2 0.5
23 0.5
23 0.5
23 0.5

3.85 1.53
3.85 1.53
4.85 2.03
4.85 2.03
4.85 2.03
4.85 2.03
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
9.32 361
9.32 3.61
9.32 361
9.32 361
9.32 361
9.32 361
9.32 361
9.32 361
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445

™ &

BRI
Part Number

04000P0060100030
04000P0060100035
04000P0060100040
04000P0060100045
04000P0080125010
04000P0080125012
04000P0080125016
04000P0080125020
04000P0080125025
04000P0080125030
04000P0080125035
04000P0080125040
04000P0080125045
04000P0080125050
04000P0080125055
04000P0080125060
04000P0080125065

HRHEFR7S BIENLAZE

&
M

M6x30
M6x35
M6x40
M6x45
M8x10
M8x12
M8x16
M8x20
M8x25
M8x30
M8x35
M8x40
M8x45
M8x50
M8x55
M8x60
M8x65

Size (mm)
DK K
11.79 445
11.79 445
11.79 4.45
11.79 445
15.79 5.85
15.79 5.85
15.79 5.85
15.79 5.85
15.79 5.85
15.79 5.85
15.79 5.85
15.79 5.85
15.79 5.85
15.79 5.85
15.79 5.85
15.79 5.85
15.79 5.85



FlRESIn/EIR+F 124

PVDF/PO

BRI
Part Number

05000P0020040004
05000P0020040006
05000P0020040008
05000P0020040010
05000P0020040012
05000P0020040016
05000P0030050004
05000P0030050005
05000P0030050006
05000P0030050008
05000P0030050010
05000P0030050012
05000P0030050016
05000P0030050020
05000P0030050025
05000P0040070004
05000P0040070006
05000P0040070008
05000P0040070010
05000P0040070012
05000P0040070016
05000P0040070020
05000P0040070025
05000P0040070030
05000P0040070035
05000P0040070040
05000P0050080004
05000P0050080006
05000P0050080008
05000P0050080010
05000P0050080012
05000P0050080016
05000P0050080020
05000P0050080025
05000P0050080030
05000P0050080035
05000P0050080040
05000P0060100006
05000P0060100008
05000P0060100010
05000P0060100012
05000P0060100016
05000P0060100020
05000P0060100025
05000P0060100030

RE
M

M2x4
M2x6
M2x8
M2x10
M2x12
M2x16
M3 x4
M3 x5
M3 x6
M3 x8
M3x10
M3x12
M3x16
M3x20
M3x25
M4 x4
M4 x6
M4 x8
M4x10
M4x12
M4x16
M4x20
M4 x 25
M4x30
M4 x 35
M4 x40
M5 x4
M5x6
M5x8
M5x10
M5x12
M5x16
M5x20
M5 x 25
M5x30
M5 x 35
M5 x40
M6x6
M6x8
M6x10
M6x12
M6x16
M6x20
M6x25
M6x30

Size (mm)
DK K
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79  4.45

SRR
Part Number

05000P0060100035
05000P0060100040
05000P0060100045
05000P0060100060
05000P0080125016
05000P0080125020
05000P0080125025
05000P0080125030
05000P0080125035
05000P0080125040
05000P0080125045
05000P0080125050
05000P0080125060
05000P0080125070
05000P0080125080
05000P0080125090
05000P0080125100
05000P0100150020
05000P0100150025
05000P0100150030
05000P0100150035
05000P0100150040
05000P0100150045
05000P0100150050
05000P0100150055
05000P0100150060
05000P0100150070
05000P0100150080
05000P0100150090
05000P0100150100
05000P0100150150
05000P0120175020
05000P0120175025
05000P0120175030
05000P0120175035
05000P0120175040
05000P0120175050
05000P0120175060
05000P0120175070
05000P0120175080
05000P0120175090
05000P0120175100
05000P0120175150

FRAEFRA BN TE

R1E
M

M6x 35
M6x40
M6x45
M6x60
M8x16
M8x20
M8x 25
M8x30
M8x 35
M8x40
M8x45
M8x50
M8 x60
M8x70
M8x80
M8x90
M8x100
M10x20
M10x25
M10x30
M10x35
M10x40
M10x45
M10x50
M10x55
M10x60
M10x70
M10x80
M10x90
M10x100
M10x150
M12x20
M12x25
M12x30
M12x35
M12x40
M12x50
M12x60
M12x70
M12x80
M12x90
M12x100
M12x150

Size (mm)
DK K
11.79 445
11.79 445
11.79 445
11.79 445
1579 5.85
1579 5.85
1579 5.85
1579 5.85
1579 5.85
1579 5.85
1579 5.85
1579 5.85
1579 5.85
1579 5.85
1579 5.85
1579 5.85
1579 5.85
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 732
19.74 7.32
19.74 7.32
19.74 7.32
19.74 732
19.74 7.32
19.74 732
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32
19.74 7.32



‘= X /I=1a == .
Rt/ [EEE+F 1% 4% o [
PTFE/PO ] [
EHET & Size (mm) EHETR I8 Size (mm)
Part Number M DK K Part Number M DK K

29000P0030050004  M3x4 5.45 2.33 29000P0080125085 M8x85 15.79 5.85
29000P0030050006  M3x6 545 2.33 29000P0080125090 M8x90 15.79 5.85
29000P0030050008  M3x8 5.45 2.33 29000P0100150012 M10x12 19.74 7.32
29000P0030050010  M3x10 5.45 233 29000P0100150016 M10x16 19.74 7.32
29000P0030050012  M3x12 5.45 2.33 29000P0100150020 M10x20 19.74 7.32
29000P0030050016  M3x16 5.45 233 29000P0100150025 M10x25 19.74 7.32
29000P0030050020  M3x20 5.45 2.33 29000P0100150030 M10x30 19.74 7.32
29000P0030050025  M3x25 5.45 233 29000P0100150035 M10x35 19.74 7.32
29000P0030050030  M3x30 5.45 2.33 29000P0100150040 M10x40 19.74 7.32
29000P0040070012  M4x12 7.82 3.01 29000P0100150045 M10x45 19.74 7.32
29000P0040070016  M4x16 7.82 3.01 29000P0100150050 M10x50 19.74 7.32
29000P0040070020  M4x20 7.82 3.01 29000P0100150055 M10x55 19.74 7.32
29000P0040070025  M4x25 7.82 3.01 29000P0100150060 M10x60 19.74 7.32
29000P0040070030  M4x30 7.82 3.01 29000P0100150065 M10x65 19.74 7.32
29000P0050080012  M5x12 9.32 3.61 29000P0100150070 M10x70 19.74 7.32
29000P0050080016  M5x16 9.32 3.61 29000P0100150075 M10x75 19.74 7.32
29000P0050080020  M5x20 9.32 3.61 29000P0100150080 M10x80 19.74 7.32
29000P0050080025  M5x25 9.32 3.61 29000P0100150085 M10x85 19.74 7.32
29000P0050080030  M5x30 9.32 3.61 29000P0100150090 M10x90 19.74 7.32
29000P0050080035  M5x35 9.32 3.61 29000P0100150095 M10x95 19.74 7.32
29000P0050080040  M5x40 9.32 3.61 29000P0100150100 M10x100 19.74 7.32
29000P0060100012  M6x12 11.79 4.45 29000P0120175012 M12x12 19.74 7.32
29000P0060100016  M6x16  11.79 4.45 29000P0120175016 M12x16 19.74 7.32
29000P0060100020  M6x20  11.79 4.45 29000P0120175020 M12x20 19.74 7.32
29000P0060100025  M6x25 11.79 4.45 29000P0120175025 M12x25 19.74 7.32
29000P0060100030  M6x30  11.79 4.45 29000P0120175030 M12x30 19.74 7.32
29000P0060100035  M6x35 11.79 4.45 29000P0120175035 M12x35 19.74 7.32
29000P0060100040  M6x40  11.79 4.45 29000P0120175040 M12x40 19.74 7.32
29000P0060100045  M6x45 11.79 4.45 29000P0120175045 M12x45 19.74 7.32
29000P0060100050  M6x50  11.79 4.45 29000P0120175050 M12x50 19.74 7.32
29000P0080125012  M8x12 15.79 5.85 29000P0120175055 M12x55 19.74 7.32
29000P0080125016  M8x16  15.79 5.85 29000P0120175060 M12x60 19.74 7.32
29000P0080125020  M8x20  15.79 5.85 29000P0120175065 M12x65 19.74 7.32
29000P0080125025  M8x25 15.79 5.85 29000P0120175070 M12x70 19.74 7.32
29000P0080125030  M8x30  15.79 5.85 29000P0120175075 M12x75 19.74 7.32
29000P0080125035  M8x35  15.79 5.85 29000P0120175080 M12x80 19.74 7.32
29000P0080125040  M8x40  15.79 5.85 29000P0120175085 M12x85 19.74 7.32
29000P0080125045  M8x45  15.79 5.85 29000P0120175090 M12x90 19.74 7.32
29000P0080125050  M8x50  15.79 5.85 29000P0120175095 M12x95 19.74 7.32
29000P0080125055  M8x55  15.79 5.85 29000P0120175100 M12x100 19.74 7.32
29000P0080125060  M8x60  15.79 5.85 29000P0120175105 M12x105 19.74 7.32
29000P0080125070  M8x70  15.79 5.85 29000P0120175110 M12x110 19.74 7.32
29000P0080125075  M8x75 15.79 5.85 29000P0120175120 M12x120 19.74 7.32
29000P0080125080  M8x80  15.79 5.85 29000P0120175150 M12x150 19.74 7.32

FRAEFRA BENATE



A/ B BE T IR 44

PPS/PO

SRR
Part Number

06000P0020040004
06000P0020040006
06000P0020040008
06000P0020040010
06000P0020040012
06000P0020040016
06000P0030050004
06000P0030050005
06000P0030050006
06000P0030050008
06000P0030050010
06000P0030050012
06000P0030050016
06000P0030050020
06000P0030050025
06000P0040070004
06000P0040070006
06000P0040070008
06000P0040070010
06000P0040070012
06000P0040070016
06000P0040070020
06000P0040070025
06000P0040070030
06000P0040070035
06000P0040070040
06000P0050080004
06000P0050080006
06000P0050080008
06000P0050080010
06000P0050080012
06000P0050080016
06000P0050080020
06000P0050080025
06000P0050080030
06000P0050080035
06000P0050080040
06000P0060100006
06000P0060100008
06000P0060100010
06000P0060100012
06000P0060100016
06000P0060100020
06000P0060100025
06000P0060100030
06000P0060100035
06000P0060100040

&
M

M2 x4
M2x6
M2x8
M2x10
M2x12
M2x16
M3 x4
M3 x5
M3x6
M3 x8
M3x10
M3x12
M3x16
M3x20
M3x25
M4 x4
M4 x6
M4 x8
M4x10
M4 x12
M4x16
M4 x20
M4 x 25
M4 x30
M4 x 35
M4 x40
M5 x4
M5x6
M5x8
M5x10
M5x12
M5x16
M5x20
M5x 25
M5x30
M5x 35
M5 x40
M6x6
M6x8
M6x10
M6x12
M6x16
M6x20
M6x 25
M6x30
M6x35
M6x40

Size (mm)
DK K
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
1179 445

Dk

SH4RR
Part Number

06000P0060100045
06000P0060100060
06000P0080125016
06000P0080125020
06000P0080125025
06000P0080125030
06000P0080125035
06000P0080125040
06000P0080125045
06000P0080125050
06000P0080125060
06000P0080125070
06000P0080125080
06000P0080125090
06000P0080125100
06000P0100150020
06000P0100150025
06000P0100150030
06000P0100150035
06000P0100150040
06000P0100150045
06000P0100150050
06000P0100150055
06000P0100150060
06000P0100150070
06000P0100150080
06000P0100150090
06000P0100150100
06000P0100150150
06000P0120175020
06000P0120175025
06000P0120175030
06000P0120175035
06000P0120175040
06000P0120175050
06000P0120175060
06000P0120175070
06000P0120175080
06000P0120175090
06000P0120175100
06000P0120175110
06000P0120175120
06000P0120175130
06000P0120175140
06000P0120175150

WR#EFRA BNENMATE

K

!!:I! YU (Eig%;j ]

&
M

M6x45
M6 x60
M8x16
M8x 20
M8x 25
M8x 30
M8x 35
M8 x40
M8x45
M8x50
M8x60
M8x70
M8x80
M8x90
M8x100
M10x20
M10x25
M10x30
M10x35
M10x40
M10x45
M10x50
M10x55
M10x60
M10x70
M10x80
M10x90
M10x100
M10x150
M12x20
M12x25
M12x30
M12x35
M12x40
M12x50
M12x60
M12x70
M12x80
M12x90
M12x100
M12x110
M12x120
M12x130
M12x140
M12x150

Size (mm)
DK K
11.79 445
1179 445
15.79  5.85
1579  5.85
1579  5.85
15.79  5.85
15.79  5.85
1579  5.85
15.79  5.85
15.79  5.85
1579  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32



A e/ EIRE+FIR4R

PP/PO

SHRR
Part Number

01040P0020040004
01040P0020040006
01040P0020040008
01040P0020040010
01040P0020040012
01040P0030050004
01040P0030050005
01040P0030050006
01040P0030050008
01040P0030050010
01040P0030050012
01040P0030050016
01040P0030050020
01040P0030050025
01040P0040070004
01040P0040070006
01040P0040070008
01040P0040070010
01040P0040070012
01040P0040070016
01040P0040070020
01040P0040070025
01040P0040070030
01040P0040070035
01040P0040070040
01040P0050080006
01040P0050080008
01040P0050080010
01040P0050080012
01040P0050080016
01040P0050080020
01040P0050080025
01040P0050080030
01040P0050080035
01040P0050080040
01040P0060100006
01040P0060100008
01040P0060100010
01040P0060100012
01040P0060100016
01040P0060100020
01040P0060100025
01040P0060100030
01040P0060100035
01040P0060100040

kS
M

M2 x4
M2x6
M2x8
M2x10
M2x12
M3 x4
M3x5
M3 x6
M3x8
M3x10
M3x12
M3x16
M3x20
M3x25
M4 x4
M4 x6
M4 x8
M4x10
M4x12
M4x16
M4x20
M4 x25
M4x30
M4x35
M4 x40
M5x6
M5x8
M5x10
M5x12
M5x16
M5x20
M5x25
M5x%30
M5x35
M5x40
M6x6
M6x8
M6x10
M6x12
M6x16
M6x20
M6x25
M6x30
M6x35
M6x40

Size (mm)
DK K
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
9.32 361
9.32 3.61
9.32 361
9.32 3.61
9.32 361
9.32 3.61
9.32 361
9.32 3.61
9.32 361
9.32 3.61
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445

Dk

) §

SHRR
Part Number

01040P0060100045
01040P0060100060
01040P0080125010
01040P0080125012
01040P0080125016
01040P0080125020
01040P0080125025
01040P0080125030
01040P0080125035
01040P0080125040
01040P0080125045
01040P0080125050
01040P0080125060
01040P0080125070
01040P0080125080
01040P0080125090
01040P0080125100
01040P0100150020
01040P0100150025
01040P0100150030
01040P0100150035
01040P0100150040
01040P0100150045
01040P0100150050
01040P0100150055
01040P0100150060
01040P0100150065
01040P0100150070
01040P0100150080
01040P0100150090
01040P0100150100
01040P0100150150
01040P0120175020
01040P0120175025
01040P0120175030
01040P0120175035
01040P0120175040
01040P0120175050
01040P0120175060
01040P0120175070
01040P0120175080
01040P0120175090
01040P0120175100
01040P0120175150

hr#EPRA BIENATT

K

RE
M

M6x45
M6x60
M8x10
M8x12
M8x16
M8x 20
M8x25
M8x30
M8x35
M8x40
M8x45
M8x50
M8x60
M8x70
M8x80
M8x90
M8x100
M10x20
M10x25
M10x30
M10x35
M10x40
M10x45
M10x50
M10x55
M10x60
M10x65
M10x70
M10x80
M10x90
M10x100
M10x150
M12x20
M12x25
M12x30
M12x35
M12x40
M12x50
M12x60
M12x70
M12x80
M12x90
M12x100
M12x150

Size (mm)
DK K
11.79 445
11.79 445
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32



RRLIG/ERTF IR

PVC/PO

SRR
Part Number
03030P0020040004

03030P0020040006
03030P0020040008
03030P0020040010
03030P0020040012
03030P0020040016
03030P0030050004
03030P0030050005
03030P0030050006
03030P0030050008
03030P0030050010
03030P0030050012
03030P0030050016
03030P0030050020
03030P0030050025
03030P0040070004
03030P0040070006
03030P0040070008
03030P0040070010
03030P0040070012
03030P0040070016
03030P0040070020
03030P0040070025
03030P0040070030
03030P0040070035
03030P0040070040
03030P0050080004
03030P0050080006
03030P0050080008
03030P0050080010
03030P0050080012
03030P0050080016
03030P0050080020
03030P0050080025
03030P0050080030
03030P0050080035
03030P0050080040
03030P0060100006
03030P0060100008
03030P0060100010
03030P0060100012
03030P0060100016
03030P0060100020
03030P0060100025
03030P0060100030

R1E
M

M2x4
M2x6
M2x8
M2x10
M2x12
M2x16
M3 x4
M3 x5
M3 x6
M3 x8
M3x10
M3x12
M3x16
M3x20
M3x25
M4 x4
M4 x6
M4 x8
M4x10
M4 x12
M4x16
M4 x20
M4 x 25
M4 x30
M4 x35
M4 x40
M5 x4
M5x6
M5x8
M5x10
M5x12
M5x16
M5x20
M5x 25
M5x30
M5x 35
M5 x40
M6x6
M6x8
M6x10
M6x12
M6x16
M6x20
M6x 25
M6x30

Size (mm)
DK K
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
9.32 3.61
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445

™

SHHRR

Part Number
03030P0060100035

03030P0060100040
03030P0060100045
03030P0060100060
03030P0080125016
03030P0080125020
03030P0080125025
03030P0080125030
03030P0080125035
03030P0080125040
03030P0080125045
03030P0080125050
03030P0080125060
03030P0080125070
03030P0080125080
03030P0080125090
03030P0080125100
03030P0100150020
03030P0100150025
03030P0100150030
03030P0100150035
03030P0100150040
03030P0100150045
03030P0100150050
03030P0100150055
03030P0100150060
03030P0100150065
03030P0100150070
03030P0100150080
03030P0100150090
03030P0100150100
03030P0100150150
03030P0120175020
03030P0120175025
03030P0120175030
03030P0120175035
03030P0120175040
03030P0120175050
03030P0120175060
03030P0120175070
03030P0120175080
03030P0120175090
03030P0120175100
03030P0120175150

hr#EFR7 BIENLATE

&
M

M6x35
M6 x40
M6x45
M6x60
M8x16
M8x 20
M8x 25
M8x 30
M8x35
M8x40
M8x45
M8x50
M8x60
M8x70
M8x80
M8x90
M8x100
M10x20
M10x25
M10x30
M10x35
M10x40
M10x45
M10x50
M10x55
M10x60
M10x65
M10x70
M10x80
M10x90
M10x100
M10x150
M12x20
M12x25
M12x30
M12x35
M12x40
M12x50
M12x60
M12x70
M12x80
M12x90

M12x100 19.74
M12x150 19.74

Size (mm)
DK K
11.79 445
11.79 445
11.79 4.45
11.79 445
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
19.74 7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74 7.32
19.74  7.32
19.74 7.32
19.74  7.32
19.74 7.32
19.74  7.32
19.74 7.32
19.74  7.32
19.74 7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74 7.32
19.74  7.32
19.74 7.32
19.74  7.32
19.74 7.32
19.74  7.32
19.74 7.32
19.74  7.32
19.74 7.32
7.32
7.32



K L

[E7E/EIE+ 1244 @
]

Nvlon/PO

SRS b L] Size (mm) EHRT g Size (mm)
Part Number M DK K Part Number M DK K

00000P0020040004  M2x4  3.85 1.53 00000P0060100045 M6x45 11.79 445
00000P0020040006  M2x6  3.85 1.53 00000P0060100060 M6x60 11.79 445
00000P0020040008 M2x8  3.85 1.53 00000P0080125016 M8x16 1579  5.85
00000P0020040010  M2x10 3.85 1.53 00000P0080125020 M8x20 1579  5.85
00000P0020040012  M2x12 3.85 1.53 00000P0080125025 M8x25 1579  5.85
00000P0020040016  M2x16 3.85 1.53 00000P0080125030 M8x30 1579  5.85
00000P0O030050004  M3x4 545 233 00000P0080125035 M8x35 1579  5.85
00000P0030050005 M3x5 545 233 00000P0080125040 M8x40 1579  5.85
00000P0O030050006  M3x6 545 233 00000P0080125045 M8x45 1579  5.85
00000P0030050008 M3x8 545 233 00000P0080125050 M8x50 1579  5.85
00000P0O030050010  M3x10 545 233 00000P0080125060 M8x60 1579  5.85
00000P0030050012  M3x12 545 233 00000P0080125070 M8x70 1579  5.85
00000P0030050016  M3x16 545 233 00000P0080125080 M8x80 1579  5.85
00000P0030050020  M3x20 545 233 00000P0080125090 M8x90 1579  5.85
00000P0030050025  M3x25 545 233 00000P0080125100 M8x100 1579  5.85
00000P0040070004  M4x4  7.82 3.01 00000P0100150020 M10x20 19.74 7.32
00000P0040070006  M4x6  7.82 3.01 00000P0100150025 M10x25 1974 7.32
00000P0040070008 M4x8  7.82 3.01 00000P0100150030 M10x30 19.74 7.32
00000P0040070010  M4x10 7.82 3.01 00000P0100150035 M10x35 1974 7.32
00000P0040070012  M4x12 7.82 3.01 00000P0100150040 M10x40 19.74  7.32
00000P0040070016  M4x16 7.82 3.01 00000P0100150045 M10x45 1974  7.32
00000P0040070020  M4x20 7.82 3.01 00000P0100150050 M10x50  19.74  7.32
00000P0040070025  M4x25 7.82 3.01 00000P0100150055 M10x55 1974  7.32
00000P0040070030  M4x30 7.82 3.01 00000P0100150060 M10x60  19.74  7.32
00000P0040070035  M4x35 7.82 3.01 00000P0100150065 M10x65 1974  7.32
00000P0040070040  M4x40 7.82 3.01 00000P0100150070 M10x70  19.74  7.32
00000PO050080004  M5x4  9.32 3.61 00000P0100150080 M10x80 1974 7.32
00000P0050080006  M5x6  9.32 3.61 00000P0100150090 M10x90  19.74  7.32
00000P0O050080008 M5x8  9.32 3.61 00000P0100150100 M10x100 19.74 7.32
00000P0050080010  M5x10 9.32 3.61 00000P0100150150 M10x150 19.74  7.32
00000P0O050080012  M5x12 9.32 3.61 00000P0120175020 M12x20 1974 7.32
00000P0050080016  M5x16 9.32 3.61 00000P0120175025 M12x25  19.74  7.32
00000P0O050080020  M5x20 9.32 3.61 00000P0120175030 M12x30 1974 7.32
00000P0050080025  M5x25 9.32 3.61 00000P0120175035 M12x35  19.74  7.32
00000PO050080030  M5x30 9.32 3.61 00000P0120175040 M12x40 1974 7.32
00000P0O050080035  M5x35 9.32 3.61 00000P0120175050 M12x50  19.74  7.32
00000PO050080040  M5x40 9.32 3.61 00000P0120175060 M12x60 1974  7.32
00000P0060100006  M6x6 1179  4.45 00000P0120175070 M12x70  19.74  7.32
00000P0060100008 M6x8 1179  4.45 00000P0120175080 M12x80 1974 7.32
00000P0060100010  M6x10 1179 4.45 00000P0120175090 M12x90  19.74 7.32
00000P0060100012  M6x12 1179  4.45 00000P0120175100 M12x100 19.74 7.32
00000P0060100016  M6x16 1179  4.45 00000P0120175150 M12x150 19.74  7.32
00000P0060100020  M6x20 1179  4.45

00000P0060100025  M6x25 1179  4.45

00000P0060100030  M6x30 1179  4.45

00000P0060100035  M6x35 1179  4.45

00000P0060100040  M6x40 11.79 4.45

h#EFR A BENLASE




k L

3 v A Ak R A BX B B/ (BT BR + P B 44 @ |
]

RENY/PO

SRR 1 Size (mm) SRR pizki:d Size (mm)

Part Number M DK K Part Number M DK K
25000P0020250003 M2x3 35 13 25000P0050080012 M5x12 9 33
25000P0020250004 M2x4 35 13 25000P0050080015 M5x15 9 33
25000P0020250005 M2x5 35 13 25000P0050080020 M5x20 9 33
25000P0020250006 M2x6 35 13 25000P0050080025 M5x 25 9 33
25000P0020250007 M2x7 35 13 25000P0050080030 M5x30 9 33
25000P0020250008 M2x8 35 13 25000P0050080035 M5x35 9 33
25000P0020250010 M2x10 35 13 25000P0060100010 M6x10 10.5 39
25000P0020250012 M2x12 35 13 25000P0060100012 M6x12 10.5 39
25000P0026045004 M2.6x4 45 17 25000P0060100015 M6x15 10.5 39
25000P0026045005 M2.6x5 4.5 1.7 25000P0060100020 M6x20 10.5 39
25000P0026045006 M2.6x6 45 17 25000P0060100025 M6x25 10.5 39
25000P0026045010 M2.6x10 4.5 17 25000P0060100030 M6x30 10.5 39

25000P0026045012 M2.6x12 45
25000P0030050004 M3 x4 5.5
25000P0030050005 M3 x5 55
25000P0030050006 M3x6 5.5
25000P0030050008 M3x8 5.5
25000P0030050010 M3x10
25000P0030050012 M3x12
25000P0030050015 M3x15
25000P0030050016 M3x16
25000P0030050020 M3x20
25000P0030050025 M3x25
25000P0030050030 M3x30
25000P0040070005 M4 x5

25000P0040070006 M4 x6

25000P0040070008 M4 x8

25000P0040070010 M4x10
25000P0040070012 M4x12
25000P0040070015 M4 x15
25000P0040070016 M4x16
25000P0040070020 M4 x20
25000P0040070025 M4x25
25000P0040070030 M4 x30
25000P0050080008 M5x8

25000P0050080010 M5x10

25000P0060100035 M6x35 10.5 3.9
25000P0060100040 M6 x40 10.5 3.9
25000P0080125016 M8x12 14 5.2
25000P0080125016 M8x15 14 5.2
25000P0080125020 M8x20 14 5.2
25000P0080125025 M8x25 14 5.2
25000P0080125030 M8x30 14 5.2
25000P0080125035 M8x35 14 5.2

Ul U1 U1 U1 Ul U1 Ul

W W NN DN DNDNDDNDNDDDNDDDNDDND =
Wwooooamaaaaa MNNNNNNNNNN

WRHEFRA BIENLATE




[ERE + 3K 4/ B BE - F 1R 4% L

Nvions Gr/po @ & (—

EHRT RS Size (mm)

SHRT Size (mm)
Part Number M DK K Part Number M DK K

09000P0020040004  M2x4  3.85 1.53 09000P0060100045 M6x45 11.79 445
09000P0020040006  M2x6  3.85 1.53 09000P0060100060 M6x60 11.79 445
09000P0020040008 M2x8  3.85 1.53 09000P0080125016 M8x16 1579  5.85
09000P0020040010  M2x10 3.85 1.53 09000P0080125020 M8x20 1579  5.85
09000P0020040012  M2x12 3.85 1.53 09000P0080125025 M8x25 1579  5.85
09000P0020040016  M2x16 3.85 1.53 09000P0080125030 M8x30 1579  5.85
09000P0030050004  M3x4 545 233 09000P0080125035 M8x35 1579  5.85
09000P0030050005 M3x5 545 233 09000P0080125040 M8x40 1579  5.85
09000P0030050006  M3x6 545 233 09000P0080125045 M8x45 1579  5.85
09000P0030050008 M3x8 545 233 09000P0080125050 M8x50 1579  5.85
09000P0030050010  M3x10 545 233 09000P0080125060 M8x60 1579  5.85
09000P0030050012  M3x12 545 233 09000P0080125070 M8x70 1579  5.85
09000P0030050016  M3x16 545 233 09000P0080125080 M8x80 1579  5.85
09000P0030050020  M3x20 545 233 09000P0080125090 M8x90 1579  5.85
09000P0030050025  M3x25 545 233 09000P0080125100 M8x100 1579  5.85
09000P0040070004  M4x4  7.82 3.01 09000P0100150020 M10x20 19.74 7.32
09000P0040070006  M4x6  7.82 3.01 09000P0100150025 M10x25 1974 7.32
09000P0040070008 M4x8  7.82 3.01 09000P0100150030 M10x30 19.74 7.32
09000P0040070010  M4x10 7.82 3.01 09000P0100150035 M10x35 1974 7.32
09000P0040070012  M4x12 7.82 3.01 09000P0100150040 M10x40 19.74  7.32
09000P0040070016  M4x16 7.82 3.01 09000P0100150045 M10x45 1974  7.32
09000P0040070020  M4x20 7.82 3.01 09000P0100150050 M10x50  19.74  7.32
09000P0040070025  M4x25 7.82 3.01 09000P0100150055 M10x55 1974  7.32
09000P0040070030  M4x30 7.82 3.01 09000P0100150060 M10x60  19.74  7.32
09000P0040070035  M4x35 7.82 3.01 09000P0100150065 M10x65 1974  7.32
09000P0040070040  M4x40 7.82 3.01 09000P0100150070 M10x70  19.74  7.32
09000P0050080004  M5x4  9.32 3.61 09000P0100150080 M10x80 1974 7.32
09000P0050080006  M5x6  9.32 3.61 09000P0100150090 M10x90  19.74  7.32
09000P0050080008 M5x8  9.32 3.61 09000P0100150100 M10x100 19.74 7.32
09000P0050080010  M5x10 9.32 3.61 09000P0100150150 M10x150 19.74  7.32
09000P0050080012  M5x12 9.32 3.61 09000P0120175020 M12x20 1974 7.32
09000P0050080016  M5x16 9.32 3.61 09000P0120175025 M12x25  19.74  7.32
09000P0050080020  M5x20 9.32 3.61 09000P0120175030 M12x30 1974 7.32
09000P0050080025  M5x25 9.32 3.61 09000P0120175035 M12x35  19.74  7.32
09000P0050080030  M5x30 9.32 3.61 09000P0120175040 M12x40 1974 7.32
09000P0050080035  M5x35 9.32 3.61 09000P0120175050 M12x50  19.74  7.32
09000P0050080040  M5x40 9.32 3.61 09000P0120175060 M12x60 1974  7.32
09000P0060100006  M6x6 1179  4.45 09000P0120175070 M12x70  19.74  7.32
09000P0060100008 M6x8  11.79 445 09000P0120175080 M12x80 1974 7.32
09000P0060100010  M6x10 11.79 4.45 09000P0120175090 M12x90  19.74  7.32
09000P0060100012  M6x12 1179  4.45 09000P0120175100 M12x100 19.74 7.32
09000P0060100016  M6x16 11.79  4.45 09000P0120175110 M12x110 19.74 7.32
09000P0060100020  M6x20 11.79  4.45 09000P0120175120 M12x120 1974 7.32
09000P0060100025  M6x25 11.79  4.45 09000P0120175130 M12x130 19.74 7.32
09000P0060100030  M6x30 1179  4.45 09000P0120175140 M12x140 1974 7.32
09000P0060100035  M6x35 1179  4.45 09000P0120175150 M12x150 19.74 7.32
09000P0060100040  M6x40 11.79 4.45

hr#EFR7 BIENMATE




	PEEK螺絲規格表
	Sheet2

	PVDF螺絲規格表
	Sheet2

	PTFE螺絲規格表
	Sheet2

	PPS螺絲規格表
	Sheet2

	PP螺絲規格表
	Sheet2

	PVC螺絲規格表
	Sheet2

	PA66螺絲規格表
	Sheet2

	RENY螺絲規格表
	Sheet2

	PA66+GF螺絲規格表
	Sheet2


